AUTO ELECTRICGUN  15year orage or older

FRHERER18%IL L

SEMI&EFULL AUTOMATIC GNU

CM.031B

Always rerad through trlilrrirsﬂmanual brefﬂore operation.
TIRIEZAKREAXEERHIBB

1BFULFRFEER | 185 U LFRA AR AL EFER
Only for 18 years ’ i 3 i ; :
of age orolder | Operation of this air gun for competition use is restricted to users of 18years of age or older.

§ reEEg BI4BB 3 835 350-60K M, RO RS BT R SHRBEERGALCHE
Injury caution | Since plastic BB bullets reach 50to 60 meters, careless shooting may cause eye damage or other injuries.

fanangeaue3at | Always read through this HANDLING CAUTION AND INSTRUCTION MAMUAL carefully before operation.

ARMEEEETTR | EREZNEROERE S FMETF RTINS AAFE L R
.' Instrucnon manuat | Operate the air gun with full recognition of warnings and cautions.




HANDLING CAUTIONS AND INSTRUCTION MANUAL

A AE A AT 4w B A T i

This sport gun is developed for enjoying sport shooting through correct sport shooting operation. You can experience unique
feel of the air gun, which is a most suitable sport goods to improve your shooting sense, if you recognize its features and
operational warnings. As the air gun has the capacity to shoot BB bullets by 50t060 meters, careless shooting and wrong
operation are dangerous, causing eye damage or other injury. Make sure to read through warnings stipulated below and
observe rules and manners for pleasant sport shooting.

GHEE AR N E IR, BERRREHNAREITEEY, WRIFFETH T ZEARNFIEREEE
Fof, KRARRRE B AT, ZARRERIHERAIRSGEANERNEM, § TAARRBHBBREN 250260
Kik, BRHRDOCHHERERBELEF AR, €I 2RE2HERLCHENLKR, FHERKAZEF BT LT
HEMELEFAFEFHAE, ME TR,

Operation of this air gun for competition use is restricted to users of 18 years of ages or older,
careless shooting and wrong operation may be dangerous and damage eyes or other part.

FEER TIERR, BRTISEMN L&A, 4388 T SRR R I R 1ET1H,

WARNING Always wear goggles WARNING Never shoot at any h‘uman or animal.
#A HppeF, FRABEREHELE, e LS E AR I

\\“\ x
3

When shooting the air gun for a target or game, you and all Never aim or shoot a person or animal as the target. Always

participants must wear goggles or other eye protective gear, ~attach the protective plug to the muzzle, except when you
also paying attention to ricochets. (Pay sufficient attention are ready to shoot a target.

also to third personnel other than participants.) R I AR I E 1 B AZs S A,

R AR B AR SRR, hA A AR ERsg  WARREMEN T @Y AR,
REGHEBREILCRFELE, AFZETTHEGF

Fio (M LEHPEE RN GHEREFAINE=F, )

WARNING  You may be punished if you are shooting WARNING Never look into the gun muzzle.
a4 for a practical joke. 4= £ B A B4 H 2 &t E H L ABAARD
%, THETHHEI, Do not look directly into

X the muzzle to avoid accidental

You may be punished if disarge of BB.

you damage public or
personal properties or

injure a person or animal FrEHBENES D, WP
even if you are shooting BB#& & o 41 %,

for a practical joke.
Always observe manners
and enjoy healthy sport
shooting.

do RIRBEN LG RG] E, REHE AR,
Bp 4 4R %Eiﬁﬁﬂa‘%%‘&z@é&, e 2 B3, Fs
HEFHE, FTAhBEERGESHE,

B Make sure to operate an air gun after recognizing its features.
B \We are not responsible for any accidents, events, injuries or repair costs arising from wrong operation and handling or

by modification and disassembly of the gun.
W HERETMABFIEZEBERZRE
WM TR R AR S AR A R AT R BN F 3, REFH, ZHILELA, KM AH T

-



Always read through this manual before operation.

WARNING Always direct the muzzle towards a safe WARNING Never shoot the air gun at places where people
o direction.3f 44 #1448 2 # R 2 0y 5 &), o and cars pass cross.
Never direct the muzzle RTAER AR L T8
X towards a person, animal . x b 3 4B B
or other dangerous g
directions. " e

Ny
except when you are i Select a safe place for
5 ready to shoot a target. My operating the air gun,
Y avoiding places where
/ | people and cars pass cross.

;‘#&T\ﬁ“éﬂﬁé‘ﬂfﬂi—/\‘ SR C R T o BEHEER2T R R, BRLERFARE TS
R AR S EMIT R B AR, W R %,
WARNING Always put the gun in a case or bag when WARNING  Store the air gun at places out of reach by
4  youare carrying it. ¥4 children. 42 f 48 A E L EH T a9 H T o
éjﬁf?ﬁ#ﬁﬂ%’ wwe Remove the battery and
O HEETERELL, store the air gun in a case
When you carry the air or bag and at a place out of

gun, set the selector lever
to the safety position and
putitin a case or bag .

reach by children so that
they will not be injured
during mischievous play.

L) D

THREBFARLE, BREFFR T ELLLE, FEREKAERFAERLLEE, RETib, BRARALES
ARERIECHAEETERNOLL, TEXROEZ, RERTCARERLEBREWMF, VA&
H %8 R IR Z AT 215,
WARNING BB bullets may be shot out even if the WARNING Always set the selector lever to the safety
e magazine is removed. # position. FHELASEFEF LT AL E,
Prig IR TR [F 4.7 fL € 4 BB,

There are cases that @ Set the selector lever to the
bullets remain in the gun safety position.

after the magazine is
disconnected. Pulling the
trigger carelessly is ' ® Remove the battery from

extremely dangerous. the air gun.
After removal of the C;]

magazine, direct the
muzzle towards a safe
direction and pull the trigger to confirm that no bullets remain

in the gun. DOMEFITETELDILE,
ERERTAZE, ATHREGEAALTFBEYALZY  ORTHRE.

T, PETRMERIELLR, EREFEE, HiE @ uan TR Tk,

TH BT 6, HBBAELTR LRA G T H,

@ Remove the magazine.

WARNING Release put away your fingers from the WARNING Never disassemble or modify the air gun.
44 trigger, except when you are ready to a4
shoot a target.
T AR B4R B AR, R Bdeihag F 50 E A% L, @ x

Never put your fingers
O x onto the trigger except
when you are shooting a

target. Maintaining your
fingers on the trigger may
cause sudden discharge
for some reasons, which is
dangerous.

This air gun is manufactured
under consideration of
appropriate performance
and operability.
Disassembling or modifying
the gun may generate
danger or adversely affect
the performance. So, avoid
dissembling or modifying
the air gun.

MR 42 B 42, &R ARk RibdeF 150 EIRM T, :%qu#é‘%#&é}iiﬁ%jéﬁ Af%ﬁ‘ﬁjé%’%f’ﬁﬁ %'J-gééﬁi #FFF,’%,%L Ei:}i 5&
iﬁ,}a%jgié;}g%%—q—ﬁg@@ ?—J%%}’; B 7 52 9k 4 WAL AL AR AR HERIEE, A2ERFRRALE S
BIRAEEK FAE

-N



Read through this manual before ® THOROUGHLY UNDERSTAND THE WARNINGS AND CAUTIONS

shooting paying special attention

|, for safe operation. FOR SAFE OPERATION.

EARAT, M AL, R i . S e o o . N
SRR o B FZHAE PR EETNBRE, TR A RE &,

VK‘HQ!}"L\_!G Always observe warnings and cautions strictly.
ENEIES Failing to do so may cause injury ,accidents, or damage to the gun.

CAUTION TR Lt B Sl B S P i
Atz T RIAE ARG E R LB E

Charging the Battery (Battery and charger sold separately.)

Ql@ﬁ@cu(\ﬂ/@ﬁuﬁ‘ﬂunﬁ:‘e‘ﬁi \:r) m Use the specified )
@ Use the specified battery for the gun. 8.4V.1200mAh Hyper ey TN

Command Mini Battery Hyper Command Mini Battery.
Avoid use of non-standard or other brand name batteries. m @)

fisg, th — . : | ined. .
Otherwise, the originally designed functions will not be obtained @ 8.4V Ni-cd Battery Pack

KRB L LA Tk, 8.4K, 1200% %) Fit., Hyper Command 8.4V ER-4aF ik
i AL AR R R IR M T ik, TR FERITER,
(o/\\Ui[e]\B The SD and Mini Battery can not be used. X))
A 3 ESHEENANN e i
@ Exclusive Charge for Ni-cd
@ Use the specified battery charger which is applicable to the Battery Pack. -
above battery. The charger Excusive Type ac Speed Charger. \_ R-EAT TR AT E )
A BT AE B
® The battery’ s capacity power is increased with use of the @® Discharge the battery completely before charging it for the firsttime
Ni-cd(battery) Discharger(Sold separately) and the charging time is 12 hours.
1 ANi-cd T 7 E BT ibife s, (FEHME) @ Battery charging time is about 8 hours, do not extra to avoid the
. Use the correct battery and charge according to respective over-charge. . R . . .
instruction manuals .We will not be held responsible for any @ The temperature can'tover 45°during charging or will damage to the
accidents or damage caused by wrongful operation or battery.
usage of non-specified Patteries. ) @ EH—RATA, AT THF, LEEMBEI2NE,
f*&a‘)ﬁfﬁﬁ]%'W1i)f#§$éf“§i@?ﬂﬁ’i§§§o ‘ﬁﬂ%?iﬁii?ﬂaﬁk;,ﬂf] @ T ATTRS kAL, T B3 VLGB E T
T B KA F S 69 F ik YEHRGE, RIMHET S T e i
afm{?i%1ﬁ)ﬂj#ﬁ7%ﬁ1& &cm?l@é’] ‘géi)kbji ‘}&.'ﬂ'EHTT ® Eﬁ,'\&ﬁfi‘l’ éﬁ}i,&'@}@}h@i*ﬁ'ﬁﬁlbﬁi. @:;],ijﬂﬁir‘:&;&a
BAEFT 1,
THE NAME OF THE PARTS (For details, see the following pages.)
& 3 5 (ELBY 2k 4 A3 _
&3 B (FAER 4T @) Rear target sight (upper and lower)
Selector lever (switch)  Hod hands B TR (LfT) " :
; 92 1 ¢ < er woo
Gunstock g 2 32yl 4F (1 ) S PE
e
A Underside wood Decoration Silencer
N by ua
T# A ¥ #% H ¥ 3
Magazine
BE
a Gunbody cover
At
gy =
Front sight Side track AR Button on the gun
i 9 ou B >
031B Silencer A AR fAl . / WH M Gun stock cover
e | Wik %

%

\

Front Sling Hook
Cleaning rod % 7% %

Rear Sling Hook
J& A 4
Trigger guard
3% R % B

Front Sight Adjustment Tool
MEZRELR




EREMNT 2R E

Selector lever and safety setting

s —\
J
>
< e
@ To prevent malfunction of
MK«R%?L‘?G the switch do not change

the selector lever from
semi to full auto while pulling the trigger.

Ty b B BB A B, iRy, R

| AR AR B BB 2 A o

@ Safety setting (the trigger
cannot be pulled.)
AR E (TRZETRE)
When you are not firing the
gun or during storage
always set the selector to
the safe position.

FRTAEREL T H,

FHEEBERE AR H,

@ Fully automatic
(automatic firing)
8% (%)

The gun will fire
automatically while the
trigger remains pulled.

FEWAE, RN AR,

(/\Uii(s]\M Set the selector lever correctly in position; otherwise, malfunction may occur.
A =z EEERTESSTET LTS NI S YT

@ Semi automatic
Fa
The gun will fire one shot each
time the trigger is pulled.
e — R AR,
BT,

RS —

n Setting the Battery (Set the battery after charging)
RR TR LT B LITT ik LH)

Battery
Tik

0 Remove the butt

plate by pressing
it downwards and
pull out the

connecter.
T Z R
BFHH s,

Press down the fuse
box and insert
connectors

and cords between the
fuse box and battery.
Bend cords in the S
shape
FENET 4 4,
ERGE &% EFT b2
MG RIEE Fo T &,

KRB

A5 E EF W RSH o

Battery connection

T bR

4]

Insert the battery in the
tail gunstock and connect
the jack.

#F
Eitig bigiz s,

FaE AL

When the battery
and cords are set
in positions,
reinstall the butt
plate as shown.

o T 4%
FEkfTERE

& &
HZE G, B
TEHR LERK,




B SETTING THE MAGAZINE
ZREE

the loader.
(500 bullet

Open the cover of the magazine

Insert 6mm BB bullets into

A% 6mm BB-T 7§

CAUTIQN
A 2

@ Always use the BB Bullets
for the air gun. We shall
not be held responsible
for any damage or
accidents arising from
the use of bullets
supplied by other
manufacturers.

AR R AL BB
B 4o Fik R Ak

s can be loaded) Replace the magazine cover.

ErHEZ .

HE e
HHBEE. i TR 4449 F 5. 5] Ae
om : : SR MERFH, RIHT
ove the gear with hand clockwise
until it is fully wound, and the bullets AT £
will be sent up automatically. © Setthe magazine upward

(It can send about 150 rounds
automatically

VAARS Sty @S T 4, A
B Lidke, TEAGAH D
Ei#, Ak B $hiE 1508

Install t

%

CAUTION
A =z

The magazine is capable of
Containing 500 rounds.

# [F 5T £5004 BB#

3. Press there
to lock.

47

ST EUESS EX T

S
</

PR @ T I o

he magazine as illustration.
R,

N
Magazine stopper relief rib.
FEIT B S AR IR 4o

N

=

Slide the rib in the arrow
direction to remove
remaining BB bullets. (Be
careful since BB bullets
may jump out.)

Je F7 A% %1 45 S4Bk
F| RBBT #, (INSBB#F
k?%@mm

o A

O O 6O

O O

First set the front.

R

CE

q.

2. Press to the rear.
) 5 A

lease lever towards the trigger

6] REAR SIGHT ADJUSTMENTS
iR Z ey i

Rear sight i
puwsmy  Sight
. 2 5l 92
Long distance i 2 35
i JE A

Short distance
T 9B A Elevation (u

adjustment

A (E/TF) Azss

@ Insert the front sight adjustment tool in the
front sight and turn it for adjustment.

MATEENE T EGEATELE, REND
VAR IR,

The 031 series rear sightis a
tangent type which is adjusted
vertically according to
distance to the target.

0314 7] fagay j5 4L 45 T e ¥

A

il

SENTE LR R y-p f

89 $E 4 H 5 @) SR Y, Counterclockwise: Clockwise:

Press the adjust button and lower sight point higher sight point
slide it forward or backward N B 4+ % vy . S5 e

to move the sight up or down. [k e T2 25 gy 5t e

The larger the number, the RGmrs R
longer the distance to the
target.

e F A4 @ AT G B R
VLR EALE, HTMK,
YE A B AZF AR

p/down])
button

CAUTION
A iE
Be careful so as not to loose the adjustment tool.

EETENHAELL

7~ 0

7N
Q\,@Q N~

Variable hop-up adjustment lever

EE LA STk 2

INSTALLATION OF THE ELIMINATE BLAZE IMPLEME
G SRR
\l{i\? ‘ While pressing the
\ oy

lock button.
Ye T HIE b

The eliminate blaze implement is fixed by
counterclockwise as in the case of real gun.

WA —AR, HK
AR B2 B T 8 o

e &

35 7

Remove by turning the Eliminate blaze implement.
KRR




@ There are possible cases

@ Smell may be generated

@ The hopping up operation

CAUTION

A g
that no firing occurs after
pulling the trigger in the
semi-atuo mode. In this
case, do not pull the
trigger furiously. Fire 5 to
6 shots in the full auto

mode and then return to
the semi auto operation.
EEBSRET, AT

AetRd R A2 5, T

BAATE R, BAEHEN

T, TRIEI Mt 1248 4,
BB TRET, %S

Flofk, REFRAZFAaH
a9k T E XKoo

from motor for a while
when a new air gun is
operated. thisis the
normal operation of the
gun.

B [4] 44 1% A # Rk 0 1,
TG —Mkoki, 0%
ok i A E Y B A 4G,
BREEFELBTEFTRE,

may be unstable for 200

to 300 rounds after using
silicone oil, this is the
normal-operation of the gun,
1% A ;‘!’z‘]:‘-‘r?;‘daz)‘s, Y
AT2002)3004 7T 4t R~ At
E, EREE IR i‘—i £}
%o

Bl Firing (Confirm your shooting area is safe before beginning firing.)
FHE AT, ARG e R A w)

CAUTIONS ON MOTOR AND BATTRY
RS Ao B it A B

@ Pull the trigger.
FeAEIR A%

@ Set the selector lever to Semi or Full Auta.
EHNFRFODEERXE LAY

@ Charge the battery if the firing cycle
becomes slow.

FAH R EE, FAT.

@ Give the air gun a rest for 5 to 10 minutes
after firing about 500 rounds, in order to
ensure long service lives of the motor and
battery.

BT ERE AT e F4, 500
W e, B RBS-105-42 49 M Ak,

v
(w\h[s]\ A blank firing may occur ar triggering after the
A = magazine, this is the normal operation of the gun.
'&;ﬂm-}u%# M4 905, Tiezy
WAt S, 3BT B e L,

oo

WHEN BULLETS ARE CLOGGED % T#E [0 &aF, /&RIRG M6

@ If bullets are clogged ,remove them and apply a few drops of silicone oil in to the chamber
from the magazine entrances shown or spray silicone oil for 0.5 or 1 sec, to obtain smooth continuous.

B THME, o TFHERER, BT FAERIE A E3o% b & F M5,

AFTER OPERATION { i = /5

@ Remove the magazine and dry fire the gun in the semi auto mode directing the
muzzle to a safe direction. (Otherwise the spring may be weakened). Set the
selector to the Safe position.
36%#[15[1& ¥ Q?f]éﬁ **:&‘F e HE DT HE, (B, #
S b IT fE 6 FRAF 2 (safe) & —4H5,

Bullets may remain in the chamber even if the magazine contains no bullets
(orif the magazine is not connected) (Two or three bullets may drop from the
magazine, this is the normal opweator of the gun.)
@ WHEERANTH, (ABRAWIREE) THRALTRE G LA

Always disconnect the battery and attach the protective cap whenever you do

not operate the air gun.

i NG - o VA ) R

Alway attach the protective cap during storage.

VABIRR eG4, FTFHEEGA T

El TROUBLE CLINIC(TROUBLE SHOOTING)
I R (A2 AT 3 AR R T A )

Use of poor quality BB bullets will cause problems. Never disassemble

or modify the gun.
R A5 87 A5 AR 2o

SYMPTOM &A% CAUSE

Lot AR Y Ea9BBIEAS hIL R A,
ACTION 7 i%

LS| ACTION 7 % SYMPTOM 7E7k CAUSE RH

'—*m(Sdrely)

Select oris set to safer.y
)*Pﬂé":i k

Set the selector lever to Semi
or Full Auto.

e (BATINEE A B2 A I

Impossible semi
-auto operation.

Insufflclent battery power. Charge the battery.
(Single out)

AT BT eLE

No operation at all
Ak aRE

Battery is not

charged. Charger the battery. Tk TR

FibR A AT BB AT Automatic firing | Insufficient battery power. | Charge the battery.
Battery cannector is Connect the connector. become shorter. dlug b ¢ F /2 SHTRAT
discnnnect’.ed i R E TR

& bk M 35 AR ET I

Worn or damaged chamber | Consult your dealer or us for

The@® and® or battery
connector is revers.

packing

() H?H- KEXZT

overhaul maintenance or

Connect the connector correctly. g Sl
repair. Replace the chamber

(check the fuse]

Shooting distance| P
become shorter.

PRI SRR

T & 2 A 22 o P Woarn or damaged chamber |packing. piston packing (O-
&bty iE ARk 42 5 ) F EHER A PR (RERKRE) FTHEMEEE | packing. [U-rin%) ringland plstun assembl\/
Fuse is blown out. Relace the fuse .[See page 8] R (OWE) KESRT

Frfe LR % (JL8H) Deteriurated piston spring.

50,000%/60,0

electrical connection.

Expired motor life (50.000| Replace the motor (purchasing EEB R
to 60.000 rounds) or poor| from your dealer or us Jor check Faulty BB bullets. (Too small | Use the genuine BE bullet
and r-ePalr the contacts or heavy) b 55 -
00%m. & dﬂw Tl (T @ T SR A BbFH R (Kb KkE) HESRABBR
"ﬁt)”?; ié‘ﬁ"‘m & Al IR TR Faulty gear. Purchase the replacement gear

EEOTHRAERCRR
% M

from your ealer and repair.

‘ the magazine.
Although motor d

is removing,
bullets jump out.

'm %37 #"3 X3

Bullets are clogged in

FRLEERALL

HWRT

15 48 4 7 5 5 il ATHAS
Consult your dealer or us for
overhaul maintenance ,part
replacement (gear. etc) or

Insert the charging rod into the
magazine and move up and down
a few times to remove clogged
bullets.

RAEPATHHLERL L, LTHH
Kok, dellRay FHHBH,

Gear problem caused by too

many blank firing or worn or

damaged gear.

k %02 GRS
A R A L SR

S TS, R

, 2 F Ak
'vTv T A

R I I BOlIaE = r Too loud Gear problem caused by too
Bletts are clogged in the CIZ’:;‘;Z(;SSQE Hilets:usingehe operating EE"Z blanl;_;ﬁ;u;g it
" e % 0y G A S B L
ulmhEn A (H #260)7% 78 Bde i R0 F 3 I ik |RE %
THREEAG)EE i

Faulty gear.
EIET

Worn or damaged chamber
packing.
GROBEHHAERRT

Purchase the replacement gear
from your dealer and repair
) 28 ST B W a0 5 b /5 i 474

Bullets being
follen out from

Impossible full-auto | Insufficient battery power| Charge the battery.

barrel end. Turn the hop adjustment lever

No hop setting. oP.

operation. F ik EE R BHERAT TR E AR | A% FHOP IHOPLE
[Alzgzgniaét;fmng] fnaa”";\;il:l‘gle'; feed of Repair clogging the magazine. i Faulty BB bullets .[(Too small) | Use the genuine BB bullet
(i) | FAE TR LA 03 R BBTHREH (A1) tA % & i5aBBEE

Impossible semi-

lT“ +3 i3
auto operation. R Ak TAF

Poor electrical connection,

Stop operation immediately, disconnect the battery ,wipe off
Being wet or drop| Water from water from inside the main body and the battery,
into water.(rain) |a@nd after complete dry, carry out trial firing, if no operation

Consult your dealer or us for
overhaul malntenance or repair.
) 48 44 ] %% S o T A 1%

(Singe shot)

THE & & N AR

Dewatlon in gear timing.

or malfunction is detected, consult yaur dealer‘ orus for repair.
AR AR, W E i, de
'ﬂ?'*f’ é'L AFT2ZE, BEREE
g X 55 ity o 4T 2 45

Set to semi auto firing 5 to 6
rounds in full auto.

A B FHiE — W K526k B R F ¥
B 5

KE (ﬁ‘J*’H

-B-




i M@ VARIABLE HOP UP SYSTEM T % ft#4Hop Up4 4.

@ If the hop-up is adjusted By produplng a bacl_(-spm on the BB hullets, t‘.-hIS system allows for stra_llghter and Iongc_ar distance shootmg t_han
excessively causing normal air gun. Unlike the fixed type, the variable hop up system permits one-touch adjustments using the dial and
clogging of bullets, lever, making it an ideal hop up system.
immediately stop B TR, AR — M AR R A B id, TR B AR A A4k —4k, T LedHop Up

operating the gun. return Z 4 Ty T P S
the lever to Normal, fire B BT VA A% R S o 3R B AT B AT R

2 or 3 shots and readjust. > Adjustment Procedure[Adjust by carry out trial firing ]

1B 4ehop-upi® 4 # 3R =T AEARA (08 R4 ARG TR )
RELHTHRE, B R}
F|ZABEN, LA EAE el @ Gradually turn the adjustment dial towards Hop to give hop up to

SHiusmentle bullets. (The best setting is where bullets fly horizontally.)

RGOS B, RIEXEHTHEAE
7 e 4T )

@ Turning excessively adversely affects the trajectory. So stop turning
the hop adjustment lever when bullets fly horizontally.
AR A7 6 R 71 0BT e W H B e Bk, e RFEARSAK
Fh s, AAT A 6 A

A de 38 6 A R R 4R
(Normal)#k & T 4t 4253
BREEHRE.

® Since a precision tight
barrel is used, use of
dirty bullets or those
with burrs causes

clogging of bullets and @ The best position is where the bullets fly horizontally, and the longest flying distance is obtained.
possible fatal damage to FlENEERETFTRRFFTONY, REELTHREF REMHE,
:f;:.tr;];chamcal box and Too much hop-up(return the lever towards NORMAL)

GFBCEEHEE, o @E LAk (HAHEFEDEFTIZE X O

o

RAL ARG T RTRRE

i zk i £ 48 7k 4.\ o
;;J %;gggm&ﬁ i Best posLt,mn O O
R o I‘l%\'1i1l_ﬁ

WARNING
xO

® Never hold the gun side

Not enough hop-up(return the lever towards NORMAL)
ways as the BB bullets o gt iy p,k X e i G
wiIYCurve tight or left. FaeAEE GRAHALF KO ETIEE)
This is due to the HOP-UP

system.

R E A f B AE A H B AT
A%, BHABBT M hiF
TRERERH T

piston and gears.
AEABEACKIEF O G GHTHAE, FRA BT T HE QLSS £ Ao et Bk
® @ If bullet clogging occurs , immediately stop firing the gun, return the hop lever to the Normal position and remove
clogged bullets using the cleaning rod.
e RFEHR, FLIFL, e EREEREE, AABRIGEHETR,
@ Make sure to return the hop adjustment lever to the Normal position when removing clogged bullets or cleaning .
(Otherwise, the chamber packing is damaged.)
ARCH LR T #0f € ATH B oF, 24chopE HATAFEFaIEE (Normal) (FAT G H
@ Never use used or dirty bullets. ([Otherwise, the chamber becomes dirty, resulting in unstable hopping up.)
F2ELERTRIEAMT R (FUBEGEM, KR THMEY REL
@® When about 10000 rounds are fired, spray silicone oil into the chamber for 0.5 to 1 dec. (See 11 on page8.

The hopping up operation may be unstable for 200 to 300 rounds after spraying the silicone oil, thisis the
normal operation of the gun.)

B X #100004 T 8, A kb #20.5-140 ( fsfatib 5, 200-300
HABTEFRLE)

@ We will not be held responsible for any damage or accidents arising from wrongful operation, disassembly and
modification of the gun.Any costs for repair of such damage shall be paid by the user.
W TR, TR SRR AT RS ES, KM T AT, b AA TR P A ITRE,

@ @ Moving the lever too much towards HOP causes bullets to clog. Firing the gun with clogged bullets damages the
TR

[‘\_7

5

gL, 248

WHEM HOPPING UP IS IMPROPER Bk¥E 7~ iE i 3L 2
SYMPTOM #EAK CAUSE &R ACTION 7 % SYMPTOM JZ7X CAUSE BB ACTION 7 %
Bullets flying Too much hop setting. Fr‘adually I‘E:jtu'r;ln adlulstment Daagad SjUELHERE Purchase the replacement
upwards. (hop) &% & £ ever towards Normal, c & adiusk (EVEar BERD S TS part at your dealer and
iprr p) &34 Je 3R fip 4T 1% b 2 39 F GE K AL o annl? ~a ius o ) p - replace it.
' A b FAMEIHIL | Guemi b R A Bl R
X Too much hop setting. Gradually return adjustment hop # &
g!’o"t f"l'"fQ (hop) % E &K lever towards Normal.
istance o op) I A : . 4 1
38 AT %k W 3R B EE K AR . Gradually return adjustment
Ezggfﬁgess - . Je 3 6 AT IR 3R B) B F KA, E:mz:nt Teo mugh hoﬁ;emmg' s tom)lar‘ds o
op packing Fire bullets equivalent to 4 or - hop! % H A 3 85 A 1 M g
up effect). contaminated by oilor | 5 magazinesgr clean the clogging A28 i AT i i 3R B E AR AR .
FEataE K dirt. chamber using cleaning rod. F# Az Improper or too large Use the BB Bullets for
(T oy A io}i@%i?&7é%ﬂ>ﬁ TRl 4 ) 73 528 A R 5|ze¢fi BB b'ulliets. Electfl.c. Gun;
HR) & BB R AERAKT A 4 BBBA
Worn or damaged hop | Purchase the replacement Clean using the cleaning rod
X 9 g
packerg. e . part a_t yudur' d?aler_or from Dirty hop packing. or l:u_nsult your dealer for
Hop&, 3 & # KA A Marui and replace it. Hopd % K repair.
S AR AR, D TGl . 60)3% 58 35 K
& #khop & SHT B AL




@ MAINTENANCE /%%

1. Fuse Replacement Procedure.
BB PRI &
The fuse hox comes out
when the connectors are
pulled out of the stock.
F AR BAGE A E Ak

v e

& e

g, dAtRIE S B E R,

M/

Glass tube fuse &[4 &
You can buy it at a near-by
electric shop or gas station.

IR A LW U 0 B2 JE X,
TREAHE,

15A Fuse common for
electric gun series.

FTHRFT e A 5 6915A

PRI %

Fuse box [when fuse
is replaced, push into
the stock all the way.

Rk % &% & 44T
Hih# g, A
CHitigie 2]

\

2 Remove the obstruct bullets f#ps% &£ 53
@ Insertthe cleaning rod into the bore.

CAUTION
25 <0 S v S
BEEONGEEAFTE . Az E

CAUTION
A iE
The ornamental can not be used for

cleaning the obstruct bullets.

MR R e S AR R AR T
HiEHET o

@ Be careful so that the angled part of the
cleaning rod faces down, and remove
clogged bullets.

MERFR B ARG T, FEEHE TE,

Make sure to insert the cleaning rod
AFTER returning the hop up lever to
the Normal position. (Hop-OFF)

AR ST 5] B A )

B R E A

WNFHRE .

3. Maintenance When Bullet Speed Become Low

Cotton cloth
Ekin

A&

Hold at the leading end of the rod
and insert the rod into the barrel
while turning the rod.

FRGATITE, A2 A o K
REHABE L,

Hop chamber packing
FEHp g Ak

Bullet entrance
FHAD
Apply a few drops of silicone or Teflon oil.

i % A S A At b

%th:

Cut the cotton to the size shown.
Adjust the length accordingly so that it
can be inserted smoothly into the barrel.

A AT AR Ao ] BT T 8 KD
W R L, ME T DR
W AGERE P,

N
AN

: Width: X/\ Approx 25~30mm ) CAUTION
Approx.10mm D, - Wind the cut e
@ KA. K#10mm /4. K#25-30mm  cotton cloth. PECE

e th A Ak @ Always carry out maintenance
AFTER returning the hop up
lever to the Normal position.

(Hop-OFF)

CAUTION @ Since the chamberis a precision
% component, avoid use of used
Inserting the rod will be difficult BB bullej:s. ‘ . .
if you haold rod at the end. @ EMLAMFEEMEFEE S, 4
B R REFREGRE. TRE HATHEIS IR &
IEELTAGTRE I @ W THrEL—1

S48 A F 18 49BBEE .

(e
AT
)y

CO———

—T

@ Drop afew drops of silicone oil or Teflon oil from the bullet entrance,
insert BB bullets into the magazine and fire bullets equivalent to 1
or 2 magazine.

BT FEag N O BUE SRR o JEBBF AR A, S IR2A

@ Tocomplete the cleaning. use the cleaning rod(with cotton)as
shown helow, to remove excess oil.

B A U R B AR IRA T LR & S Ry s

4. FINE ADJUSTMENT OF GEAR ENGAGEMENT
5 94 2 o 640 B3

RO “\gj )
Only when the motor noise becomes high

CAAUQOEL\I after operations for a long period of time,
A =

conduct the fine adjustment as shown.
FHRIE B R, T HE LR KR F
4o [8] i = #+4F HE AT

Hold the grip during adjustment.
Otherwise, the main body will drop since the
grip set screw is removed.
AL ZR T 0F, FR
B & 40 F a9 I S AR TR T

% i

i

.
@

|, IREE %
7 34 4

G

o

Remove the screw
from the grip bottom.

PR F R AT B B

CAUTION
A =3

@ ltis recommended to lock the adjustment

M3 hexagan screw by a screw locking agent or
wrench instantaneous adhesive after adjustment
M35 # B 5 of the motor position is complete.

e /\/ @ Normally, do not attempt to adjust.

@ Be careful as not to overly tighten the
screw as it will damage the gun.
@ R ERHEEERNETRE, 11
ST B A M

Insert M3 hexagon wrench into
the screw hole to adjust.

HM3 5 1% HIR F 4GNSR 4 L

-8-







CM.031 (031B)

1.Flash hider

1B. cm031b flash hider
2.Screw (m3*6)

3.Front barrel

4.Spring ($0.4* $4.0 *17.5 * 11T)
5.Front guntip

5B.031b gun tip

6.M3 *5 HMHO

7.Frontsight

8.Shatft  2.5*16.5

9.Gun barrel

10.Screw m3*3

11.Up gun guard cap
12.Hexangularironslice
13.Up gun guard

14.Up gun guard back cap
15.Down gun guard front cap

pEpEt

031B jH¥E8S
M3*65577
3L E TE ki
FE£($0.4*H4.0%17.5%11T)
¥k

031B#p3L
M3*5 HMHO
BEE

e $2.5%16.5
oA

M3*3§5
EipAReEIE=
NS
EIFR
EipRESE
TIPARHTR

16.Down gun guard

17.0ut gun barrel

18.0uter gun barrel located slice
19.¢3 *10 PAHO

20.Decoration

20B. 031b decoration

21.Gun body cover

22.Add weitght slice
23.Cocking lever

24.Spring $0.45* ¢ 4.5 * 139 * 54T
25.Spring located slice

26.Hop up

27.Located slice

28.Battery case

29.¢2.0* 6.5 PAHO

30.Gun body cover release

THRAR

B

BEITR
$3*10PAHO
BN

031BEEL

BEE

INE#E

RIF
RFEENMIE0.45%h4.5%139%54T
L REE TR E IR U
Hop uplE &zl Etx
BB HEIRUA
25 H12053

$2.0 * 6.5 PAHO
ICSIRREERE

-10-




31.Up gun guard located nail

32.M3* 5 kmho

33.Right gun sight

34 Left gun sight

35.M3* 20 PMHO

36.93 *10 PAHO

37.¢3*16 PBTHO

38.M3 nut

39.¢2 *12 shaft

40.Spring( $0.5 * $3.35 *20* 20t)

41.Staff guage panel

42 Staff guage

43 .Staff guage release spring

44 staff guage release

45.Rear sight release spring
($0.4*$3.9*8*71)

46.HOP-UP

47 Rubber selector

48.Selector

49.Gun barrel connnect link

50.Block

51.Nail

52.Hop-up selecor ruber

53.¢2.3 * 8 PWAHO d=05.0

54.$2.0 * 4 PWBHO d=¢5.0

55.$2.0 *4 KBHO

56.Hop-up rubber

57Inner barrel sleeve

58.Inner barrel

59.Fire selector

60.0uter fire selecor

61.M4* 10 TMHO

62.Fire selector ring

63.Fire selector coppy barrel

64.Located slice

65.Main gear box

66.Gear

67.Rigger block

68.Motor right cap

69.Motor left cap

70.Motor shim

71.M4 *4 screw

72.M3 *8 PMHO

73.Spring shim ¢5.2 * $3.1 *1.0

74 M3 * 21 KMHO

75.Motor

EIRARIRAIET
M3*5 KMHO
GEEE
TR RE

M3*20 PMHO
$3*10 PAHO
$3*16 PBTHO
M3iz&

G2* 1255
FEE($0.5*$3.35*20*20T)
R

RR

TR RIS
TRRIRSE
BEEREE
($0.4*$3.9*8*7T)
2R

BRBATHE
SRETH
BEER

NFH

E1FET

TS EERER
$2.3*8 PWAHO D=¢5.0
$2.0*4 PWBHO D=¢5.0
$2.0*4 KBHO
TR
BERE

LieRiEh=
KRBT A
RIRETEEIMOIR
M4*10 TMHO
REEATEERR
AT RS RE
EMNER
02iFEF 1R
IS
AR
BiEs
==y
=1k
M4*4¢h

M3*8 PMHO
EEH T (05.2%¢93.1%1.0
M3*21 KMHO
B

76.Motor spring

77.Gun body

78.M3 * 14 KMHO

79.M3 *12 KMHO

80.Side rail

81.43.0*7.5 TBHO inner hexagon 2mm

82.Gun grip

83.M4 *5 TMHO

84 Rigger loop

85.Rigger loop stator

86.Magazine safty

87.Magazine release shaft

88.Magazine relese spring

89.¢3 *10 PBTHO

90.Gun body connector

91.M3 *6 KMHO

92.M4 *10 KMHO

93.Gun stock coverrelease

94.Gun stock cover

95.M4 * 8 KMHO

96.Wire

97 Right gun stock

98.Left gun stock

99.Rear gallus hook

100.Rear gallus hook cover

101.M3 * 8 KMHO

102.M3 nut

103.M4 nut

104 .Shaft

105.Magazine cover

106.Magazine rear cover

107.92 *21.5 shaft

108.92 *25.5 shaft

109.Right trajectory

110.Left trajectory

111.Gear

112.Clockwork spring base
+ clockwork spring

+ clockwork spring cover gear

113 Driver

114.Gear

115.Gear spring
116.Magaziine cover
117.Bullet block
118.Spring( 0.4 * $3.9 *7.5)
119.¢2.6 * 10 PAHO
120.Ballistic transition nail

EEHLES

S

M3*14 KMHO
M3*12 KMHO
{nish,

$3.0*7.5 TBHOR < @2mm
FiB

M4*5 TMHO
AL
LB B E kA
WERE
ARG S 4
WA
$3*10 PBTHO
BB
M3*6 KMHO
M4*10 KMHO
BiERENR
BEEE

M4*8 KMHO
HiR%

Gt

PaslicEan
EETEH
BEERE
M3*8 KMHO
MR &

B EMA
ey
BRI
WERE
$2*21.575H
$2*25.57%4
GIE

EiiE
hEEFE
REFE+RE+REZTR

LiP

KR

ERRHE

HEE

il
SHEE($0.4%¢3.9*7.5)
$2.6*10 PAHO

B EET

CM-0318B

Name B CM-031
Overall length £ K 950mm 850mm
Weight s B2 2800g including battery 3295g including battery

. = | 2800m i 32953 14 i
Magazine capacity ZE5E#H 500 rounds 500 & 500 rounds 500 &
Bullet F ® 6mmBB bullets B6mmBB 7t 6mmBB bullets 6mmBB 3

Initial bullet speed #)iEE

102m/sec (0.2gbullet)
102 k/# (0.2g F#)

102m/sec (0.2gbullet)
102 k/4 (0.2g F3#)

Full auto
shooting speed

EHHEE

750~850k /4

750 to 850 rounds/min

750~850K /%)

750 to 850 rounds/ min

11-




